Приложение 1. 

Решить неравенство:

Желтая карточка: 

 2х + х2 ( 3х - 4 + х2;    7х + 3(х-8) 
[image: image1.wmf]£

 4(-5-6х);   (х-5)2( 0,5х2 + 8х + 0,5х2;  (х-20)(х+20) ((х-7)2;    (х-2):8 
[image: image2.wmf]³

(6-х):(-5)

Синяя карточка: 

2х2 -7х + 5 
[image: image3.wmf]³

 0;   2х2 -7х + 5 ( 0;  (х-2)(х-2) 
[image: image4.wmf]£

 0;  -3х2 + 2х -1( 0;  (х-2) (х+2) 
[image: image5.wmf]³

 0.

Зеленая карточка:

(2х+3)(4-х) ( 0;  3х(1-х)
[image: image6.wmf]£

 -6;   (х-2)2 ( 4-х2;   
_1071387606.unknown

_1071387610.unknown

_1071387611.unknown

_1071387612.unknown

_1071387609.unknown

_1071387605.unknown

